WASTE WATER TREATMENT



ECP-Package 72

« E5|Y : ZE0|L] HEHE = SEHE 2Els XM2|ZA] (=8 : M 10-13383428 )
« M=% : ECP-MBR(ENVIS Container Package-MBR SYSTEM)

« NEAY & S : He|0|L{HE2] o|St HX|7} 0|8 st+H2|Al A
- AR SSolITAHE|EL JiH 2 FA A MSE R 7S
= 7| A&} i"lﬁlii'} LHEHSE FHE|0] HEL| H2|A|HFX]| BT
- MBR X2Z|SHS = 0HE =0l £ElSH J1= (BOD 5. COD 20. SS 5ma/l 015H
- XIS3t AlIA-SE |X|2E]7t 20|

Ry




ECP-Package 72

HMARE = X2}

o APEIEIEL, AR dSAIE = S 30 01550 EX]

BeI7h 2|23t E|0] SAPZ[ZH0] Bt

HESI ZeHE 7| 5t

- ERZAE]
- 712 (EXE, BEE9, ZESA|2H, diz MM S)0| Z&tE Y
2| A|AE
o 7|EAIE HAPS

- JIEAEE 88, Mg S & 2 g

- Xz|g SZ0 ey Fold

R FEXNZ|&FX2E| 20|
0] Z+sia =toqztoil 2|

UECIE | 2SE MLSS #X|2 SZ5 610 CHst S sk 28t

Ha|$a e

X0l = 2= CiXp
HE= Hix|7} 7ks

- BiEe] ofi et HE s H
- @A 2510 o2t ZEst FC|xelEs St FHEHE D E3

six} O
o B

7







B AER L AF =

10= ECP-MBR

200 &00 1.000 1.000

¢
2.000
2,009

[ ey —
Jena
800 800 1000 1000
WO.BzL2. 0xH2. 4
|
E E + | Wil.L2.0xH2 4
=
= Wi, 0=L2. 0xH0.0
b
waaws Rl -] 3 Wa.GxL2 0xH2 4




e ASE R BAHE

30= ECP-MBR

N
4818
. 800 1500 1500 1.000
- | [ | | -
O - = 200 (me L)
4] | g8
— T=-N gL
o
) Vi s W ] T-P (mgL)
4 i
?
4818
500 1.500 : 1,500 1,000
3 g H——
it |
| -
=  =e 1 === I 1
ey (o T8
",




2| ASE Y YA =

50= ECP-MBR

FY -
P ‘m 1.200 3. 500 4
5
g 2
o
-
T-N (mz/L)
s n
T=F (mg/L)
3 500
| |
g3 |
.it 1 I |- - 1 :
(ayrg L] == mALN




e ASE R BAHE

100= ECP-MBR

4

12128
i), B ] ; i - A

CODy Oz L)

— [
=
[FAF]
L 1800 rim 5,000 ) 350
g 2
b=
Eh I I I = 1 I =1 I I
= b




A A (ERES 2L SH)

|

=o{ Al10-1338342=

£ . © 3
R i
e
Elu:\ﬂﬂ"g
%W AN BIAAL. Ateems
RIS W TEwd

g i e e

L LE D errpepepes—"
a9l YiF oF T 29T 88 B

80 E A et
ER LRI T TF T =IFE e
Ill-"= TR EET EER A nk (ddE. 40 gang

e Bl
R

W ws "REE, of He RelEage BN
SEed Tt

el N OO et P T R TIRC O Te E  Fo e

R L e, PR TS |
o N @

ZiH| 0| ENSit =S et & 2 HI = A 2 [ FEHX[(ECP=MBR)

F=27|ZH(F2013%127025=

)




AN (BRES L BY

=

N’

| SHZIAI7 & 1= 2865 = 1235 |
& ._

TEedHEM
MIASNEM ; :

......

RNEEX] ZEF 2| S| fe| SHE S = b sS2XIS0|Z8h6rs1 =X 2lZ|=(HP=MBR)

r=2/ | ZH(F2009195281=42016°89°%27)



HEA

L

woo o= M

11

12

13

14

15

16

T2dHE
227 X EHOSST8 ey
DS Tpad S =

oE e
ot fr JT iz
Az

olo
Ml
ol 40 of
e rﬂE

HH € DSkl EA

=2 OS50 FAY
FEE OFSot2 ALY
Sh=7ZEAR
HEE 2aH|Al4

=0 A Y

ot
F
Vi
s

AlS Oh=

o @ K K ORK K onpe
-4 ol
= M
o
i
0%

rx
a
=

)
b

Or= ot 7H AL

o 4
g

0%

0
M
e

=

BB

AN
rx
oF Mo
O

251 THH AL
25t THM AL
B ST NS A
SR 2| Al 4

00 o

M
Eﬁ Ml F A
i Ji #ll% 19
==}

=
ot
t
[0
il
LI

2t

09
=
&
UH

RS BNt

Cho| X Elofsi=+8 72

=i
A 200 /€
200 E/&
NEt= 120 E/&

130 E/&

WE
WE
WE

/
/
/
/
/
14 E/&
14 =/
/
/
/

He Ho Ao Moo Moo Ao
o o2 o8 R of B

Ho
A

Mo Mo
08 0f

Mo
0f
Of of o o ol o oft o of o of ofi ofx o o ofy

HO HO M0 Ho Mo Ho
08 o2 o8 of o8 of



